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6. MR BMAEDBREERT A-OITBELCHEFERICHIIFRERIL)

s 4 EE2HOBREAEE | FELAOBEIERE
[BEEFEE£EET] [BELEXEET]
REDETH B | on ™ R 55, 5. %M %
o 320 X4 (§€$’~J~%!§i) (i, &%) | #HEXER (FFH) EIFE
mEF (FFH)

AR (4) 06 | REURLE (EHE) ® R3.9~R4.2 1 1 30,927 30,927
IR ES (4) 06 | REURLE (EHE) = R3.9~R4.2 1 1 5,203 5,203
H LR G 1T T (1) 01 |fapRese 8 R R4.2~R5.2 781 0 60,045 60,045 FE (AR T D BE4,96 150
A LN (1) 02 |[RFMILHFE = S R4.2~R4.3 645 645 120,000 120,000
FLZNARE (28 T 5%) (1) 01 |fapReise 53 R R4.2~R5.2 1,000 1,000 430,000 430,000
SIS (2) 32 [Brskkaeaik - R5.2~R5.3 1 1 8,800 8,800 U2=N
A LN (1) 01 |fabriiss % R5.2~R5.3 536 367 200,000 140,000
FIHLZNARE (4) 33 [KBeEEE - R5.2~R5.3 21 21 40,000 40,000 LEMAE T
I P /N (2) 32 [Brskkneiai R5.2~R5.3 1 1 4,000 4,000 U2=N
Y TN (2) 32 [Brskkneai R5.2~R5.3 1 1 6,200 6,200 iz 5
UN-UNES (2) 32 [Brskkneai - R5.2~R5.3 1 1 7,600 7,600 U2=N
[N NS 5 (2) 32 [Brskkneai - R5.2~R5.3 1 1 9,400 9,400 U2=N
BN (2) 32 |BhsHkRESRIL - R6.2~R6.3 1 1 6,909 6,909 furd =8
A LN (1) 02 |[RFMILHFE 5 R6.2~R6.3 2,287 2,287 760,000 760,000
N (2) 06  [REURSIE (YT 7Y—) % R6.2~R6.3 1 1 1,000 1,000
N (2) 06  [REURSIE (YT 7Y—) )= R6.2~R6.3 1 1 10,000 10,000
BN (4) 33 [KEesES - R6.2~R6.3 21 21 40,000 40,000 BT
FHER/ N (2) 06  [REUKSIE (YT 7Y —) % R6.2~R6.3 1 1 18,500 18,500
FHER/ N (2) 06  [REUKSIE (YT 7Y—) )= R6.2~R6.3 1 1 15,000 15,000
PRI/ N (2) 32 |BhsHkRESRIL - R6.2~R6.3 1 1 8,839 8,839 furd =8
UN-UNES (2) 32 [Brskkneai R6.2~R6.3 1 1 5,313 5,313 U2=N
[N NS 5 (2) 32 [Brskkneai - R6.2~R6.3 1 1 10,582 10,582 U2=N
AR AR (2) 06 | REUKLE (N7 7Y—) % R6.2~R6.3 49 49 123,000 123,000
AR AR (2) 06 | REUKLE (N7 7Y—) )= R6.2~R6.3 1 1 4,000 4,000
R oA (2) 06 | REURLE (VT 7Y—) % R6.2~R6.3 8 8 23,000 23,000

Hi 1,948,318 | 1,888,318
(8B BELEE
BN — N4 % R6.2~R6.3 1,008 1,008 600,000 600,000




